RAN2-RAN3 Joint session on the topic of CU-DU (split Option 2vs3)

-
RAN2 to present current status of NR UP stack

-
RAN3 to prepare questions/issues for joint discussion with RAN2

-
Aim for RAN2 to provide necessary information to assist RAN3 to take a decision on down selection between option 2 and 3, if possible

Hideaki Takahashi (NTT DOCOMO) pesented RAN2's input to the joint meeting, in R2-1700042.

Anil Umesh (NTT DOCOMO) presented RAN3's input to the joint meeting, in R2-1700637.

Nokia: Option 2 does not have listed drawbacks, but actually option 3 benefits can be regarded as option 2 drawbacks

Nokia: Why option 3 is more delay-sensitive.

Ericsson: Option 3 is subject to queuing and segmentation

- Question from RAN3: Is the RLC split as proposed in option 3 feasible?


- Most companies regard option 3 split as feasible.

- Could the same split be introduced in LTE?


- This would be difficult.

- Option 2 would have the advantage that the same architecture is already used in 4G

Ericsson: Would it be possible to support both architecture options?

Vodafone: Option 3 may have problems with non-ideal backhaul

CATT: The backhaul technologies required are already there, we just have to improve them

Ericsson: Variable delays may cause problems for RLC timers.

Conclusion:

- for Option 3 (slide 10):


- benefit 2 is valid.


- benefit 7 is questionable.


- benefit 9 is an implementation issue, can be handled


- drawback 1 is there, but it is not significant.

-> Both options are feasible, RAN3 can make the decision between options 2 and 3. The impact of the decision to RAN2 will be minor, some impacts on future RAN2 discussions.
